Design Notations for ICS 52
1. All components and modules are represented as rectangular boxes with their name in the center of the box 

2. All components and modules should have a provided interface on top and a required interface on the bottom

3. The top-level architecture of a system (consisting of components A and D) must contain the following (figure 1)
3.1. Rectangular boxes representing components A and D each with a provided and required interface. Each component box should be named accordingly. The sub-components of A and D should not be displayed/drawn in the top-level architecture of the system.

3.2. If component A requires functionality exposed by B, there should be a solid arrow connecting A's required interface to B's provided interface.  
4. The top-level architecture of any component A (consisting of components B and C) must contain the following (see figure 2)
4.1. A rectangular box representing A. This box should have a provided and required interface as well though no arrows will be shown connected externally to its required and provided interfaces.  

4.2. Rectangular boxes representing sub-components of A (B and C namely) each with a provided and required interface drawn inside the rectangular box representing A. Each sub-component box should be named with the name of the sub-component. The sub-components of B and C (if any) should not be displayed/drawn in the top-level architecture of A. Instead they should be displayed in the top-level architecture diagrams of B and C respectively.
4.3. In essence, each diagram is one level deep. 
5. If components B and C belong to the same top-level component A and if component B needs to call function/s exposed by component C 
5.1. Those functions should be in the required interface of B and in the provided interface of C), there should be a solid arrow from B's required interface to C's provided interface (see figure 2).

6. Arrows always point from a required interface to a provided interface.
7. If component B belongs to top-level component A and it needs to call function/s exposed by component E belonging to top-level component D (and D is not a sub-component of A)

7.1. A's module diagram should show a broken/dotted arrow drawn internally from B's required interface to the required interface of A (see figure 2).
7.2. D's module diagram should show a broken/dotted arrow drawn internally from the provided interface of D to the provided interface of E (see figure 3).
8. Sample diagrams
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Figure 1: 


Top-Level  System Architecture





Provided Interface





Required Interface





Component A





Provided Interface





Required Interface





E





Provided Interface





Required Interface





F





Figure 3: 


Top-Level architecture of  Component D 
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Figure 2: 


Top-Level architecture of 


Component A 








